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Lesson 8.3 121520 D

Notes
STANDARD FORM QUADRATIC
FUNCTIONS

FINDING THE VERTEX

Standard Form| f(x)=ax® +bx+c

Axis of Bymmetry

x-intercepts: (p,0)(q,0) < = -b/2a

—— .
zeros/roots/solutions

the output y value will be the k of the vertex
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input the axis of symmetry x value, Y-interCeptT T

To find Vertex: . . . O 1 'S

which is the h, into the function, :\(frte :Q,k) | 2
0 the funcion [l (h0)

Dilation:

Verdex. % ifa>0 (positive) Vertex is a minimum value \,/
I\lfax or Min? ‘zif ai< 0 T

: . . I
(negative) Vertex is a maximum value A
—

Y Intercept: (0,c) (.NSSIT\(A \ﬁ ayiﬁ P(\,g ta 0 ’R)( X

X intercepts Roots: Eoss i 5
Factor oruse x = -t?i \/bg - 4ac '
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to graph:
Axis of Symmetry: Vi, <8> -y
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Vertex and Line of Symmetry

Name. Date Graphing Standard Form Functions Homework
Eillin the table and then graph the function. [X | F( )= ( )2+4( )-5 | x,y)
1 y=xitax—s 1 D)
X== Yy =__’Z o (°o,-S,
T) NS @R
7 2 $0)- (AE)S=T
3 A,
What is the Vertex? q) -4 G475
What is the line of symmetry? :g _‘z‘r;\
P ' .
2 y=x*+6x+1 x »
y-=b ‘ =3 .
—1
$@- (s) A3) =9 &Sy
—4
What is the Vertex? (—Bl_g) -
What is the line of symmetry? ><_” s
‘What is the y-intercept? _ ( o" )
3. y=x—4x+3
¥~ (.4 ) TS
Z(Y 2 5
c(2Y-Yy+3=~1 3
£(2): -4y 3=~ 5
1
0
What is the Vertex? @ =1
What is the line of symmetry? JL
What is the y-intercept? ( D‘ 5]
‘p:—,\/i—ﬁg XO|FO=-(F-6) [bv) s
P L) R 1
*= 2(-") <t~ 5 0
-1
# 2
-3 by (NI
What is the Vertex? (—5 q) 4
What is the line of symmetry? 2{_-_5_ 2
What is the y-intercept? 1] =4
s y=2x*+8x—1
PRNCIN e =
( ) q ‘1)
T - —| == —
L) 28D =
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What is the Vertex? L?Jj> ==

What is the line of symmetry? X= '2—
What is the y-intercept? ___ ( a_ -l 3 -

F()=-3()*-6()+7 | (x.y)
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What is the Vertex? ‘—‘ 1 |D\

x=-1
‘What is the line of symmetry?

What is the y-intercept? (D _’
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